
 

www.DropKickCustomsllc.com                     DropKickCustomsllc@gmail.com 813-515-6607 

 XXX OEM Side Covers Installation Instructions  

2009+ Harley-Davidson Touring Models 

 

 
Introduction  
Thank you for your purchase of your new DropKick Customs XXX OEM Side Covers.  
 
1. IMPORTANT! Mock-up side covers prior to painting. For mock-up do not use Loctite at this time or install the 
springs with spring retainers.  

2. Place bike on center jack if you have one or it can also be done while on kickstand.  

3. Remove both Left & Right saddlebags and side covers.  

4. Remove factory side cover rubber grommets from frame. Push them through the hole for easier removal. Pic 
(A)  

5. Install all (6) Push Pull Fasteners into side covers. Apply small amount of blue Loctite onto threads tighten 
securely. Pic (B)  

6. Install all 4 front mounting pins. Install Pin use (1) 5/16 thin washer and nut on pin, slide in the hole from the 
back side of frame, hold in place while installing (1) 5/16 large fender washer and nut on front side of pin. Install 
nuts only finger tight at this time. Pic (C, D, E, F)  

7. Install rear mounting Pins. Install Pin use (2) 5/16 thick washers on both sides of frame securing with (2) M8 
nuts. install nuts finger tight. Pic (C)  

8. Note: All three mounting holes have plenty of play to align the pins to the fasteners.  

9. Now that all the pins are installed finger tight you can align pins to side cover fasteners and adjust depth of 
pins for final fitment.  

10. Now that you have an idea where pin locations need to be set, and side covers are painted and ready for 
final installation. Remove pins from one side of bike, place red Loctite on pin threads of all (3) pins and re-install 
on frame. Quickly adjust and align side cover pins for fitment with side covers before Loctite dries. Using a 
socket and open-end wrench lock down all nuts and reinstall side covers to check alignment.  
 
11. Install springs on each pin and press the retaining washers over end of pin to hold spring in place. Pic (G)  

12. Repeat steps 10 &11 for other side.  

13. Make sure all hardware is properly tightened.  

14. Included hardware (6) Push Pull Fasteners (6) Threaded Mounting Pins (6) Springs (6) Spring Retaining 
Washers (4) 5/16 Thin Flat Washers (4) 5/16 Thick Washers (4) 5/16 Large Fender Washers (12) M8 Nuts Pic (H)  
 
 
 

http://www.dropkickcustomsllc.com/


 

www.DropKickCustomsllc.com                     DropKickCustomsllc@gmail.com 813-515-6607 

• DropKick Customs products are subject to continuous improvement and development, therefore, although 
these instructions include the most up-to-date information available at the time of printing, minor updates may 
occur. To find the latest information. Please contact DropKick Customs if you have any questions regarding the 
contents in this document.  
 
• DropKick Customs shall not be held liable for any consequential or incidental damages resulting from the 

failure of a DropKick Customs part. DropKick Customs shall have no obligation if a part becomes defective as a 

result of improper installation or abuse.  

  A     B     C 

  

  D      E     F 

  

  G     H 

 

 

 

http://www.dropkickcustomsllc.com/

